

An Integral Associated With the Modified Saigo Operators Involving Two I-Functions and Generalized Polynomials

Harshita Garg* And Ashok Singh Shekhawat**

*Suresh Gyan Vihar University, Jagatpura, Jaipur, Rajasthan, India

**Arya College of Engineering and Information Technology, Jaipur, Rajasthan, India

Abstract: In this paper, we obtained two fractional integrals involving the product of two I-functions [10], general class of polynomials and Gauss hypergeometric function. By making use of these integrals, we have obtained two theorems based on modified Saigo operators of fractional integration.

Keywords: fractional integral, Saigo operators, Riemann-Liouville operator, Weyl operator, Erdélyi-Kober operator, I-function, gauss hypergeometric function and general class of multivariable polynomial.

I. Introduction

Modified Saigo Operators:

Let f, g, h be complex numbers and $\delta > 0$. The modified Saigo operators denoted by $\Delta_{0,z,\delta}^{f,g,h}$ and $\nabla_{z,\infty,\delta}^{f,g,h}$ are defined as following:

$$\Delta_{0,z,\delta}^{f,g,h}(\phi) = \delta z^{-\delta(f+g)} \int_0^z (z^\delta - u^\delta)^{f-1} {}_2F_1\left(f+g, -h; f; \frac{1-u^\delta}{z^\delta}\right) u^{\delta-1} \phi(u) du, \quad \text{Re}(f) > 0 \quad \dots (1)$$

$$= \frac{d^n}{d(z^\delta)^n} \Delta_{0,z,\delta}^{f+n, g-n, h-n}(\phi), \quad 0 < \text{Re}(f) + n \leq 1 \quad \dots (2)$$

Where ${}_2F_1(f+g, h)$ is the Gauss hypergeometric function and

$$\nabla_{z,\infty,\delta}^{f,g,h}(\phi) = \frac{\delta}{\Gamma(f)} \int_z^\infty (u^\delta - z^\delta)^{f-1} u^{-\delta(f+g)} {}_2F_1\left(f+g, -h; f; \frac{1-z^\delta}{u^\delta}\right) u^{\delta-1} \phi(u) du, \quad \text{Re}(f) > 0 \quad \dots (3)$$

$$= (-1)^n \frac{d^n}{d(z^\delta)^n} \nabla_{z,\infty,\delta}^{f+n, g-n, h-n}(\phi), \quad 0 < \text{Re}(f) + n \leq 1 \quad \dots (4)$$

Sufficient conditions for the existence of (1) and (3) are $\delta > 0$,

$$\text{Re}(f) > 1 - \frac{1}{2\delta}; \quad \phi(z) \in L_2(R_+) \quad \dots (5)$$

$$\text{and } \max.[0, \text{Re}(g-h)] > 1 - \frac{1}{2\delta};$$

$$\min.[\text{Re}(g), \text{Re}(h)] > -\frac{1}{2\delta};$$

If these conditions are satisfied, then $\Delta_{0,z,\delta}^{f,g,h}\phi(z)$ and $\nabla_{z,\infty,\delta}^{f,g,h}\phi(z)$ both exist and also both $\in L_2(R_+)$

The operators $\Delta_{0,z,\delta}^{f,g,h}$ and $\nabla_{z,\infty,\delta}^{f,g,h}$ include as their special case $g = -f$, the fractional calculus of Riemann-Liouville and Weyl types:

$$\Delta_{0,z,\delta}^{f,-f,h}(\phi) = R_{0,z,\delta}^f(\phi); \quad \nabla_{z,\infty,\delta}^{f,-f,h}(\phi) = W_{z,\infty,\delta}^f(\phi) \quad \dots (6)$$

When $\delta=1$, we obtain the following identities and inverses:

$$\Delta_{0,z,\delta}^{0,0,h}(\phi) = \phi(z); \quad \nabla_{z,\infty,\delta}^{0,0,h}(\phi) = \phi(z) \quad \dots (7)$$

$$[\Delta_{0,z,\delta}^{f,g,h}]^{-1} = \Delta_{0,z,\delta}^{-f,-g,f+h}; \quad [\nabla_{z,\infty,\delta}^{f,g,h}]^{-1} = \nabla_{z,\infty,\delta}^{-f,-g,f+h} \quad \dots (8)$$

For the operators $\Delta_{0,z,\delta}^{f,g,h}$ and $\nabla_{z,\infty,\delta}^{f,g,h}$ there hold interesting results similar to the once derived in a series of earlier papers [11] to [22].

Here we shall study another generalization of (1) and (3) which is given as following:

$$\Delta_{0,z,\delta}^{\mu;f',g',h';M,N,f,g,h} \{\phi(z)\} = \frac{\delta z^{-\delta} (f+g)}{\Gamma(f)} \int_0^z (z^\delta - u^\delta)^{f-1} {}_2F_1\left(f+g, -h; f; \frac{1-u^\delta}{z^\delta}\right) u^{\delta-1} {}_zS_n^{f',g',h'}[xu^\mu; t, s, r, M, N, k, \eta, \sigma] \phi(u) du \quad \dots (9)$$

And

$$\nabla_{z,\infty,\delta}^{\mu;f',g',h';M,N,f,g,h} \{\phi(z)\} = \frac{\delta}{\Gamma(f)} \int_z^\infty (u^\delta - z^\delta)^{f-1} u^{-\delta(f+g)} {}_2F_1\left(f+g, -h; f; \frac{1-z^\delta}{u^\delta}\right) u^{\delta-1} S_n^{f',g',h'}[xu^\mu; t, s, r, M, N, k, \eta, \sigma] \phi(u) du \quad \dots (10)$$

Where $\text{Re}(f) > 0$ and $S_n^{f',g',h'}[x]$ stands for the generalized polynomial set defined by the following Rodrigues type formula [9, p.64, eq. (2.18)],

$$S_n^{f',g',h'}[z; t, s, r, M, N, k, \eta, \sigma] = (Mz + N)^{-f'} (1 - M'z^t)^{\frac{-g'}{h'}} T_{\eta,\sigma}^{k+n} \left[(Mz + N)^{f'+m} (1 - M'z^t)^{\frac{g'+sn}{h'}} \right] \quad \dots (11)$$

With the differential operator $T_{\eta,\sigma}$ being defined as

$$T_{\eta,\sigma} \equiv z^\sigma \left(\eta + z \frac{d}{dz} \right) \quad \dots (12)$$

An explicit form of this generalized polynomial set [9, p.71, eq. (2.3.4)] is given by

$$S_n^{f',g',h'}[z; t, s, r, M, N, k, \eta, \sigma] = B^m z^{\sigma(k+n)} (1 - M'z^t)^{sn} \sigma^{k+n} \sum_{\lambda=0}^{k+n} \sum_{k=0}^{\lambda=0} \sum_{y=0}^{k+n} \sum_{i=0}^j \frac{(-1)^j (-j)_i (f')_j (-\lambda)_k (-f'-rn)_j}{i! j! \lambda! (1-f'-j)_i} \left(-\frac{g'}{h'} - sn\right)_\lambda \left(\frac{i+\eta+tk}{\sigma}\right)_{k+n} \left(\frac{-h'z^t}{1-h'z^t}\right) \left(\frac{Mz}{N}\right)^j \quad \dots (13)$$

It may be noted that the polynomial set defined by (11) is of general character and unifies and extends a number of classical polynomials introduced and studied by various authors, such as Chatterjea [2], Dhillon [4], Gould and Hopper [5], Krall and Frink [7], Singh [24], Singh and Srivastava [25], etc.

The Series I-Function

The I-function is defined in [10, p.2.99, eq. (3.1)] as follows:

$$I_{p_1,q_1}^{m_1,n_1}[x'] = I_{p_1,q_1}^{m_1,n_1} \left[x' \left| \begin{matrix} (h'_1, \gamma'_1, M'_1), \dots, (h'_p, \gamma'_p, M'_p) \\ (l'_1, \theta'_1, N'_1), \dots, (l'_p, \theta'_p, N'_p) \end{matrix} \right. \right] = \frac{1}{2\pi i} \int_L \psi(w) dw \quad \dots (14)$$

Where

$$\psi(w) = \frac{\prod_{j=1}^{m_1} \{\Gamma(\ell_j - \theta_j w)\}^{N_j} \prod_{j=1}^{m_1} \{\Gamma(1 - h_j + \gamma_j w)\}^{M_j}}{\prod_{j=m_1+1}^{q_1} \{\Gamma(1 - \ell_j + \theta_j w)\}^{N_j} \prod_{j=n_1+1}^{p_1} \{\Gamma(h_j - \gamma_j w)\}^{M_j}} \quad \dots (15)$$

Here m_1, n_1, p_1, q_1 are non negative integers satisfying $1 \leq m_1 \leq q, 0 \leq n_1 \leq p, h_i, \ell_i$
 ($i = 1, \dots, p; j = 1, \dots, q$) are complex numbers and $\gamma_i > 0, \theta_i > 0$,

L is a suitable contour. The sufficient conditions for the absolute convergence of the contour integral (15) are given in [10].

$$\Omega = \sum_{j=1}^{m_1} |N_j \theta_j| - \sum_{j=m_1+1}^{q_1} |N_j \theta_j| + \sum_{j=1}^{n_1} |M_j \gamma_j| - \sum_{j=n_1+1}^{p_1} |M_j \gamma_j| > 0 \quad \dots (16)$$

This condition provides exponential decay of the integrand in (14) and region of absolute convergence of the function defined by (14) is

$$|\arg x| < \frac{1}{2} \pi \Omega \quad \dots (17)$$

Now we define the following representation of the I-function in a computable series [10] as following:

$$I(x') = I_{p_1, q_1}^{m_1, n_1} [x'] = \sum_{c=1}^{m_1} \sum_{s=0}^{\infty} \frac{(-1)^s R(w') x'^{w'}}{(\rho)! N'_c} \quad \dots (18)$$

Where

$$w' = \frac{(\theta'_c + s)}{N'_c}$$

Equation (18) exists for

$$0 < |x'| < \infty \text{ If } \mu^* = 0 \text{ and } 0 < |x'| < \frac{1}{\tau^*},$$

$$\mu^* = \sum_{j=1}^{m_1} (N'_j) + \sum_{j=m_1+1}^{q_1} (N'_j \ell'_j) - \sum_{j=1}^{p_1} (M'_j h'_j),$$

$$\tau^* = \left[\prod_{j=1}^{m_1} (N'_j)^{-N'_j} \right] \left\{ \prod_{j=1}^{p_1} (M'_j)^{M'_j h'_j} \right\} \left\{ \prod_{j=m_1+1}^{q_1} (N'_j)^{-N'_j \ell'_j} \right\},$$

$$N'_c (\theta'_c + s'_1) \neq N'_j (\theta'_c + s'_2) \quad \text{For } j \neq c (j, c = 1, \dots, m_1; s_1, s_2 = 0, 1, 2, \dots),$$

$$R(w') = [V(w')]_{\ell'_1, \dots, \ell'_m=1} = \frac{\left[\prod_{j=1}^{m_1} \{\Gamma(\theta'_j - N'_j w')\} \right] \left[\prod_{j=1}^{n_1} \{\Gamma(1 - \gamma'_j + M'_j w')\} \right]^{h'_j}}{\prod_{j=m_1+1}^{q_1} \{\Gamma(1 - \theta'_j + N'_j w')\}^{\ell'_j} \prod_{j=n_1+1}^{p_1} \{\Gamma(\gamma'_j - M'_j w')\}^{h'_j}}$$

MAIN THEOREMS We establish the main theorem based on I-function pertaining to the modified Saigo operators denoted by $\Delta_{0,z,\delta}^{f,g,h}$ and $\nabla_{z,\infty,\delta}^{f,g,h}$.

Theorem- 01

It will be shown here that

$$\Delta_{0,z,\delta}^{u;f',g',h';M',N',f,g,h} \left\{ u^{\mu'} I_{p_1, q_1}^{m_1, n_1} \left[f' u^{\delta'} \left| \begin{matrix} (h'_1, \gamma'_1, M'_1), \dots, (h'_p, \gamma'_p, M'_p) \\ (l'_1, \theta'_1, N'_1), \dots, (l'_p, \theta'_p, N'_q) \end{matrix} \right. \right] \right\} \cdot S_V^U [u^{v'}]$$

$$= \sum_{\lambda=0}^{m_1+n_1} \sum_{t=0}^{\lambda} \sum_{j=0}^{m_1+n_1} \sum_{i=0}^j \sum_{c=1}^{m_2} \sum_{\rho=0}^{\infty} \sum_{K=0}^{\lfloor \frac{v'}{U} \rfloor} \frac{(-V)_{UK}}{K!} A_{V,K} \xi(i, j, k, r') x^{\sigma(m_1+n_1)+t\lambda+j} \frac{(-1)^\rho R(w')}{(\rho)! N'_c}$$

$$\cdot z^{\mu'+\mu[\sigma(m_1+n_1)+t\lambda+j]+\theta'w'+v'K-\delta g} I_{p_1+2, q_1+2}^{m_1, n_1+2}$$

$$\left[f', z^{\delta'} \left| \begin{matrix} \left(1 - \frac{\beta}{\delta}, \frac{\delta'}{\delta}, 1\right), \left(1 - \frac{\beta}{\delta} + h - g, \frac{\delta^*}{\delta}, 1\right), (h'_1, \gamma'_1, M'_1), \dots, (h'_p, \gamma'_p, M'_p) \\ (\ell'_1, \theta'_1, N'_1), \dots, (\ell'_q, \theta'_q, N'_q), \left(1 - \frac{\beta}{\delta} - g, \frac{\delta^*}{\delta}, 1\right), \left(1 - \frac{\beta}{\delta} + h + f, \frac{\delta'}{\delta}, 1\right) \end{matrix} \right. \right] \dots (19)$$

Where

$$\xi(i, j, k, r') = (N')^{rn'} \sigma^{m_1+n_1} \frac{(-1)^j (-j_i)(f')_j (-\lambda)_k (-f'-rn)_i}{i! j! \lambda! k! (1-f'-j)_i} \left(-\frac{\theta'}{h'} - wn'\right)_\lambda \left(\frac{i+r+tk}{\sigma}\right)_{m_1+n_1} \left(\frac{M'}{N'}\right)^j (-M')^\lambda \dots (20)$$

And

$$\beta = \mu' + \delta + \mu\sigma(m_1 + n_1) + \mu\lambda + \theta' w' + \nu' K + \mu j \dots (21)$$

Equation (19) holds true under the following conditions:

- (i) $|M' x^t| < 1$;
- (ii) $\text{Re}(f) > 0$;
- (iii) $\Omega > 0, |\arg f'| < \left(\frac{1}{2}\right)\Omega\pi$,

Where

$$\Omega = \sum_{j=1}^{m_1} |N'_j \theta_j| - \sum_{j=m_1+1}^{q_1} |N'_j \theta_j| + \sum_{j=1}^{n_1} |M'_j \gamma_j| - \sum_{j=n_1+1}^{p_1} |M'_j \gamma_j|; \dots (22)$$

- (iv) U is an arbitrary positive integer and the coefficients $A_{V,K}(V, K \geq 0)$ are arbitrary constants, real or complex.
- (v) The series occurring on the right hand side of (19) is absolutely convergent.

Proof:

In view of definition (9), the left hand side of (19)

$$= \frac{\delta z^{-\delta(f+g)}}{\Gamma(f)} \int_0^z (z^\delta - u^\delta)^{f-1} u^{\mu'+\delta-1} {}_2F_1\left(f+g, -h; f; \frac{1-u^\delta}{z^\delta}\right) I_{p_2, q_2}^{m_2, n_2} [u^{\theta'}] S_V^U [u^{\nu'}] I_{p_1, q_1}^{m_1, n_1} [f' u^{\delta'}] S_n^{f', g', h'} [x; u^\mu; t, s, r, M, N, k, \eta, \sigma] du \dots (20)$$

Using (13), (14) and (18), we get the left hand side of (19)

$$= \sum_{\lambda=0}^{m_1+n_1} \sum_{k=0}^{\lambda} \sum_{j=0}^{m_1+n_1} \sum_{i=0}^j \sum_{c=1}^{m_2} \sum_{\rho=0}^{\infty} \sum_{K=0}^{\lfloor \frac{V}{U} \rfloor} \frac{(-V)_{UK}}{K!} A_{V,K} \xi(i, j, k, r') x^{\sigma(m_1+n_1)+\ell\lambda+j} \frac{(-1)^\rho R(w')}{(\rho)! N'_c} \frac{1}{2\pi i} \int_L \psi(y) f^y \left[\frac{\delta z^{-\delta(f+g)}}{\Gamma(f)} \int_0^z (z^\delta - u^\delta)^{f-1} u^{\mu'+\delta+\mu\sigma(m_1+n_1)+\mu\lambda+\mu j+y\delta'+\theta'w'+\nu'K-1} {}_2F_1\left(f+g, -h; f; \frac{1-u^\delta}{z^\delta}\right) du \right] dy \dots (21)$$

Where $\xi(i, j, k, r')$ and $\psi(y)$ are defined by (20) and (14) respectively and

$$\text{Re}(f') > 0, \text{Re}(\mu) > 0, \text{Re}\left(\frac{\mu}{M} + \varepsilon' - g'\right) > 0, M > 0, K = 0, 1, 2, \dots$$

Now using the following result given by Saigo and Saxena [16, p.57, Eq. (4.16)]

$$\begin{aligned}
 & M \int_L k^{\mu-1} (z^h - k^h)^{f'-1} {}_2F_1 \left(f'+g', -\varepsilon'; f'; \frac{1-k^h}{z^h} \right) dk \\
 &= \frac{\Gamma(f') \Gamma\left(\frac{\mu}{M}\right) \Gamma\left(\frac{\mu}{M} + \varepsilon' - g'\right)}{\Gamma\left(\frac{\mu}{M} - g'\right) \Gamma\left(\frac{\mu}{M} + \varepsilon' + f'\right)} z^{f'M - \mu - Mg'} \dots (22)
 \end{aligned}$$

Now interpreting the result then obtained with the help of (18), we reach at the desired result (19).

Theorem-02

It Will Be Shown Here That

$$\begin{aligned}
 & \nabla_{z, \infty, \delta; t, \gamma', r; k, \eta, \sigma}^{\mu; f', g', h'; M, N, f, g, h} \left\{ u^{\mu'} I_{p_1, q_1}^{m_1, n_1} \left[f' u^{\delta'} \left| \begin{matrix} (h'_1, \gamma'_1, M'_1), \dots, (h'_p, \gamma'_p, M'_p) \\ (l'_1, \theta'_1, N'_1), \dots, (l'_p, \theta'_p, N'_p) \end{matrix} \right. \right] \right\} S_V^U [u^{\nu'}] \\
 & I_{p_2, q_2}^{m_2, n_2} \left[u^{\theta'} \left| \begin{matrix} (h''_1, \gamma''_1, M''_1), \dots, (h''_p, \gamma''_p, M''_p) \\ (l''_1, \theta''_1, N''_1), \dots, (l''_p, \theta''_p, N''_p) \end{matrix} \right. \right] \\
 &= \sum_{\lambda=0}^{m_1+n_1} \sum_{t=0}^{\lambda} \sum_{j=0}^{m_1+n_1} \sum_{i=0}^j \sum_{c=1}^j \sum_{\rho=0}^{m_2} \sum_{K=0}^{\lfloor V/U \rfloor} \frac{(-V)_{UK}}{K!} A_{V,K} \xi(i, j, k, r') x^{\sigma(m_1+n_1)+t\lambda+j} \frac{(-1)^\rho R(w')}{(\rho)! N'_c} \\
 & z^{\mu'+\mu[\sigma(m_1+n_1)+t\lambda+j]+\theta'w'+\nu'K-\delta g} I_{p_1+2, q_1+2}^{m_1, n_1+2} \\
 & \left[f' z^{\delta'} \left| \begin{matrix} (h'_1, \gamma'_1, M'_1), \dots, (h'_p, \gamma'_p, M'_p), \left(1-f-g-\frac{\beta'}{\delta}, \frac{\delta'}{\delta}, 1\right), \left(1+h-\frac{\beta'}{\delta}, \frac{\delta^*}{\delta}, 1\right) \\ \left(1-f-\frac{\beta}{\delta}, \frac{\delta'}{\delta}, 1\right), \left(1-f-g+h-\frac{\beta'}{\delta}, \frac{\delta'}{\delta}, 1\right), (l'_1, \theta'_1, N'_1), \dots, (l'_q, \theta'_q, N'_q) \end{matrix} \right. \right] \dots (23)
 \end{aligned}$$

Where

$$\beta' = \mu' + \delta + \mu\sigma(m_1 + n_1) + \mu t \lambda + \theta' w' + \nu' K + \mu j - \delta(f + g) \dots (24)$$

Proof:

In view of definition (10), the left hand side of (23)

$$\begin{aligned}
 &= \frac{\delta}{\Gamma(f)} \int_z^\infty (u^\delta - z^\delta)^{f-1} u^{\mu'-\delta(f+g)+\delta-1} {}_2F_1 \left(f+g, -h; f; \frac{1-z^\delta}{u^\delta} \right) I_{p_2, q_2}^{m_2, n_2} [u^{\theta'}] S_V^U [u^{\nu'}] \\
 & I_{p_1, q_1}^{m_1, n_1} [f' u^{\delta'}] S_n^{f', g', h'} [x; u^\mu; t, s, r, M, N, k, \eta, \sigma] du \dots (25)
 \end{aligned}$$

Using (13), (14) and (18), we get the left hand side of (23)

$$\begin{aligned}
 &= \sum_{\lambda=0}^{m_1+n_1} \sum_{k=0}^{\lambda} \sum_{j=0}^{m_1+n_1} \sum_{i=0}^j \sum_{c=1}^j \sum_{\rho=0}^{m_2} \sum_{K=0}^{\lfloor V/U \rfloor} \frac{(-V)_{UK}}{K!} A_{V,K} \xi(i, j, k, r') x^{\sigma(m_1+n_1)+t\lambda+j} \frac{(-1)^\rho R(w')}{(\rho)! N'_c} \frac{1}{2\pi i} \int_L \psi(y) f^y \\
 & \left[\frac{\delta}{\Gamma(f)} \left\{ \int_z^\infty (u^\delta - z^\delta)^{f-1} u^{\mu'+\delta+\mu\sigma(m_1+n_1)+\mu\lambda+\mu j+\gamma\delta'+\theta'w'+\nu'K+\delta(f+g)-1} {}_2F_1 \left(f+g, -h; f; \frac{1-z^\delta}{u^\delta} \right) du \right\} \right] dy \dots (26)
 \end{aligned}$$

Where $\xi(i, j, k, r')$ and $\psi(y)$ are defined by (20) and (14) respectively and

$$\operatorname{Re}(f') > 0, \operatorname{Re}\left(1 - f' - \frac{\mu}{M}\right) > 0, \operatorname{Re}\left(1 - f' - g' + \varepsilon' - \frac{\mu}{M}\right) > 0, M > 0, K = 0, 1, 2, \dots$$

Now using the following result given by Saigo and Saxena [16, p.57, Eq. (4.17)]

$$\begin{aligned} & M \int_z^\infty k^{\mu-1} (k^h - z^h)^{f'-1} {}_2F_1\left(f'+g', -\varepsilon'; f'; \frac{1-z^h}{k^h}\right) dk \\ &= \frac{\Gamma(f') \Gamma\left(1 - f' - \frac{\mu}{M}\right) \Gamma\left(1 - f' - g' - \frac{\mu}{M} + \varepsilon'\right)}{\Gamma\left(1 - f' - g' - \frac{\mu}{M}\right) \Gamma\left(1 + \varepsilon' - \frac{\mu}{M}\right)} z^{f'M - \mu - Mg'} \end{aligned} \quad \dots (27)$$

Now interchanging the order of integration and summation, we reach at the desired result (26).

Special Cases

1. Taking $M_j = N_j = 1 \quad \forall j$ in (19), the I-function reduces to well known Fox's H-function [3] as following:

$$\begin{aligned} & \Delta_{0,z,\delta;t,\gamma;r;k,\eta,\sigma}^{\mu;f',g',h';M,N,f,g,h} \left\{ u^\mu I_{p_2,q_2}^{m_2,n_2} [u^{\theta'}] H_{p_1,q_1}^{m_1,n_1} [f' u^{\delta'}] S_V^U [u^{\nu'}] \right\} \\ &= [A^*] \times H_{p_1+2,q_1+2}^{m_1,n_1+2} \left[f' z^{\delta'} \left| \begin{array}{l} \left(1 - \frac{\beta}{\delta}, \frac{\delta'}{\delta}\right), \left(1 - \frac{\beta}{\delta} + h + g, \frac{\delta'}{\delta}\right), (h_j, \gamma_j)_{1,p_1} \\ (\ell_j, \theta_j)_{1,q_1}, \left(1 - \frac{\beta}{\delta} + g, \frac{\delta'}{\delta}\right), \left(1 - \frac{\beta}{\delta} + h + f, \frac{\delta'}{\delta}\right) \end{array} \right. \right] \end{aligned} \quad \dots (27)$$

Where

$$\begin{aligned} [A^*] &= \sum_{\lambda=0}^{m_1+n_1} \sum_{t=0}^{\lambda} \sum_{j=0}^{m_1+n_1} \sum_{i=0}^j \sum_{c=1}^{m_2} \sum_{\rho=0}^{\infty} \sum_{K=0}^{\lfloor \frac{V}{U} \rfloor} \frac{(-V)_{UK}}{K!} A_{V,K}^U \xi(i, j, k, r') x^{\sigma(m_1+n_1)+t\lambda+j} \frac{(-1)^\rho R(w')}{(\rho)! N'_c} \\ & z^{\mu'+\mu[\sigma(m_1+n_1)+t\lambda+j]+\theta'w'+\nu'K-\delta g} \end{aligned} \quad \dots (28)$$

2. If we take M_j ($j = n_1+1, \dots, p$) = N_j ($j = 1, \dots, m_1$) in (19), the I-function reduces to \bar{H} -function defined by Innayat-Hussain [6], as following:

$$\begin{aligned} & \Delta_{0,z,\delta;t,\gamma;r;k,\eta,\sigma}^{\mu;f',g',h';M,N,f,g,h} \left\{ u^\mu I_{p_2,q_2}^{m_2,n_2} [u^{\theta'}] \bar{H}_{p_1,q_1}^{m_1,n_1} [f' u^{\delta'}] S_V^U [u^{\nu'}] \right\} \\ &= [A^*] \times \bar{H}_{p_1+2,q_1+2}^{m_1,n_1+2} \left[f' z^{\delta'} \left| \begin{array}{l} \left(1 - \frac{\beta}{\delta} + h - g, \frac{\delta'}{\delta}, 1\right), (h_j, \gamma_j, M_j)_{1,n_1}, \left(1 - \frac{\beta}{\delta}, \frac{\delta'}{\delta}, 1\right), (h_j, \gamma_j)_{n_1+1,p_1} \\ (\ell_j, \theta_j)_{1,m_1}, (\ell_j, \theta_j, N_j)_{m_1+1,q_1}, \left(1 - \frac{\beta}{\delta} - g, \frac{\delta'}{\delta}, 1\right), \left(1 - \frac{\beta}{\delta} + h + f, \frac{\delta'}{\delta}, 1\right) \end{array} \right. \right] \end{aligned} \quad \dots (29)$$

Where β is defined in (21) and A^* is defined in (28).

3. If we use the identity $\Delta_{0,z,0}^{f,-f,h} f = R_{0,z,\delta}^f f$ in (19), then we obtain the result for the Riemann-Liouville operator.

$$\begin{aligned} & R_{0,z,\delta;t,\gamma;r;k,\eta,\sigma}^{\mu;f',g',h';M,N,f} \left\{ u^\mu I_{p_1,q_1}^{m_1,n_1} [f' u^{\delta'}] S_V^U [u^{\nu'}] I_{p_2,q_2}^{m_2,n_2} [u^{\theta'}] \right\} \\ &= \sum_{\lambda=0}^{m_1+n_1} \sum_{k=0}^{\lambda} \sum_{j=0}^{m_1+n_1} \sum_{i=0}^j \sum_{c=1}^{m_2} \sum_{\rho=0}^{\infty} \sum_{K=0}^{\lfloor \frac{V}{U} \rfloor} \frac{(-V)_{UK}}{K!} A_{V,K}^U \xi(i, j, k, r') x^{\sigma(m_1+n_1)+t\lambda+j} \frac{(-1)^\rho R(w')}{(\rho)! N'_c} \end{aligned}$$

$$z^{\mu'+\mu[\sigma(m_1+n_1)+t\lambda+j]+\theta'w'+v'K+\delta g} I_{p_1+1,q_1+1}^{m_1,m_1+1} \left[f' z^{\delta'} \left(\left(1 - \frac{\beta}{\delta}, \frac{\delta'}{\delta}, 1 \right), (h'_1, \gamma'_1, M'_1), \dots, (h'_p, \gamma'_p, M'_p) \right) \left(\ell'_1, \theta'_1, N'_1 \right), \dots, \left(\ell'_q, \theta'_q, N'_q \right), \left(1 - \frac{\beta}{\delta} + f, \frac{\delta'}{\delta}, 1 \right) \right] \dots (30)$$

II. Conclusion

The results derived in this paper are useful for preparing the table of Riemann-Liouville operator, Weyl operator, Erdélyi- Kober operator and Saigo operator of fractional calculus.

References

- [1]. Agrawal, R., Pareek,R.S. and Saigo,M. A general fractional integral formula, J.Frac. Calc., 7, (1995), 55-60.
- [2]. Chatterjea, S.K. Quelques fonction generatrices des polynomes d'Hermite, du point de vue de l'algbre de Lie, C.R. Acad. Sci. Paris Ser., A-B 268, (1996), A600-A602.
- [3]. Fox, C. The G and H-function as symmetrical Fourier kernel, Trans. Amer. Math. Soc., 98 (1961), 395-429
- [4]. Dhillon, S.S. A study of generalization of special functions of mathematical physics and applications, Ph.D. Thesis, Bundelkhand Univ., India (1989).
- [5]. Gould, H.W. and Hopper, A.T. Operational formulas connected with two generalizations of Hermite polynomials, Duke Math. J., 29 (1962), 51-63.
- [6]. Inayat-Hussain,A.A. New properties of hypergeometric series derivable from Feynman integrals: II, A generalization of the H-function, J. Phys. A. Math. Gen. 20 (1987), 4119-4128.
- [7]. Krall, H.L. and Frink, O. A new class of orthogonal polynomials: the Bessel polynomials, Trans. Amer. Math. Soc. 65 (1949), 100-115
- [8]. Mathai, A.M. and Saxena,R.K. The H-function with applications in statistics and other disciplines, John Wiley & Sons, Inc. New York (1978).
- [9]. Raizada, S.K. A study of unified representation of special function of mathematical physics and their use in statistics and boundary value problems, Ph.D. Thesis, Bundelkhand Univ., India (1991).
- [10]. Rathi, A.K. A new generalization of hypergeometric functions, Le Mathematics Fasc.II, 52 (1997), 297-310
- [11]. Saigo, M. A remark on integral operator involving the Gauss hyper-geometric functions, Math. Rep. College General Ed. Kyushu Univ., 11 (1978), 135-148.
- [12]. A certain boundary value problem for the Euler- Darboux equation, Math. Japan, 24 (1979), 377-385.
- [13]. A certain boundary value problem for the Euler- Darboux equation, II, Math. Japan, 24 (1979), 211-220.
- [14]. A certain boundary value problem for the Euler- Darboux equation, III,Math. Japan, 26 (1981), 103-119.
- [15]. A generalization of fractional calculus, Fractional calculus, Research Notes Math., 138, Pitman, (1985), 188-198.
- [16]. Saigo, M. and Saxena,R.K. Application of generalized fractional calculus operators in the solution of an
- [17]. integral equation, Journal of Fractional Calculus 14 (1998), 53-63.
- [18]. Saigo, M., Saxena,R.K. and Ram, J. Certain properties of operators of fractional integration associated with Mellin and Laplace Transformations, Current Topics in Analytic function Theory (H.M. Srivastavs and S. Owa; Editors), World Scientific, (1992), 291-304.
- [19]. On the fractional calculus operators associated with the H-function, Ganita Sandesh, 6 (1992), 36-47.
- [20]. Application of generalized fractional calculus operators in the solution of certain dual integral equations, Integral Transforms and Special functions, 1 (1993), 207-222.
- [21]. On the two dimensional generalized Weyl fractional calculus associated with two dimensional H-transforms. J.Frac. Calc., 8(1995), 63-73.
- [22]. Saxena,R.K., Ram, J. and Kalla, S.L. Unified fractional integral formulas for the generalized H-function, Rev. Acad. Canar. Cienc., XIV (1-2) (2002), 97-109.
- [23]. Saxena,R.K., Ram, J. and Suthar, D.L Unified fractional integral formulas for the modified Saigo operator, Acta Ciencia Indica, Vol. XXXI, No. 2, 21 (2005), 421-428.
- [24]. Saxena,R.K., Ram, J. and Chandak, S. Unified fractional integral formulas involving the I-function associated with the modified Saigo operator, Acta Ciencia Indica, Vol. XXXIII M, No. 3, (2007), 693.
- [25]. Singh, A. A study of special functions of mathematical physics and their applications in combinatorial analysis, Ph.D. Thesis, Bundelkhand Univ., India (1981).
- [26]. Singh, R.P. and Srivastava, K.N. A note on generalization of Laguerre and Humbert polynomials, Ricerca (Napoli) (2), 14 (1963), 11-21; Errata, ibid., 15, (1964), 63.
- [27]. Srivastava, H.M. A contour integral involving Fox's H-function, Indian, J. Math., 14 (1972), 1-6.
- [28]. Srivastava, H.M. and Daoust, M.C. Certain generalized Neumann expansions associated with the Kampé de Fériet function, Nederal. Akad. Wetensch. Indag. Math. 31 (1969), 449-457.
- [29]. Srivastava, H.M. and Garg, M. Some integrals involving a general class of polynomials and the multivariable H-function, Rev. Roumaine Phys. 32 (1987), 685-692.